

$$1) \sum_{n=1}^{\infty} \ln\left(\frac{n^4}{n^4 + 5n^2 - 1}\right) \quad (*)$$

$$\lim_{n \rightarrow \infty} \ln\left(\frac{n^4}{n^4 + 5n^2 - 1}\right) = \ln 1 = 0 \quad \text{CN OK}$$

$$\ln\left(\frac{n^4}{n^4 + 5n^2 - 1}\right) = \ln\left(1 + \frac{n^4 - n^4 - 5n^2 + 1}{n^4 + 5n^2 - 1}\right) =$$

$$= \ln\left(1 + \frac{1 - 5n^2}{n^4 + 5n^2}\right) \underset{n \rightarrow \infty}{\sim} \frac{1 - 5n^2}{n^4 + 5n^2} \sim -\frac{5}{n^2}$$

$$\sum_{n=1}^{\infty} \frac{5}{n^2} \text{ converge} \Rightarrow \text{le serie } (*) \text{ converge}$$

$$\sum_{n=0}^{\infty} \frac{n + 5^n}{n^2 + n!}$$

$$\frac{n + 5^n}{n^2 + n!} \underset{n \rightarrow \infty}{\sim} \frac{5^n}{n!} \rightarrow 0 \quad \text{CN OK}$$

$$\frac{a_{n+1}}{a_n} = \frac{(n+1) + 5^{n+1}}{(n+1)^2 + (n+1)!} \cdot \frac{n + n!}{n + 5^n} \underset{n \rightarrow \infty}{\sim} \frac{5^{n+1} n!}{(n+1)! \cdot 5^n} = \frac{5}{n+1} \rightarrow 0 < 1$$

$\Rightarrow$  la serie converge